[image: image1.jpg]The oxygen debt (EPOC) is made up of two components:

1) The Alactacid component
2) The Lactacid component

The Alactacid component

e  More rapid of the two processes

e Itisthe restoration of the muscle phosphagen
stores (PC and ATP)

e  During this part of the debt oxygen consumption
remains high

e  The energy released aerobically is used to
continue ATP production and then to reform PC
that were depleted during exercise

e  This component uses up to 4 litres of oxygen

o It takes 2-3minutes to complete restoration after
intfense exercise

o  50% of levels are replaced after 30 seconds

e If exercise is submaximal then recovery is even
quicker.




